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AR R4 - B SAE) - HRAY - BES il v ol H o HimE=T
siERsSh 69,090,792 68,261,327 829,465
= 8,576,400 8,893,632 A317,232
J| 4,551,026 4,211,444 339,582
= 55,963, 366 55,156,251 807,115
SHtE MiH RS - 0HHIE 28t 69,044,3% 68,230,263 814,133
= 8,576,400 8,893,632 A317,232
J| 4,551,026 4,211,444 339,582
= 55,916,970 55,125,187 791,783
AA0AHIPEY 18,705,794 18,626,916 78,878
= 3,065,000 3,404,582 A339,582
Il 3,282,026 2,942,444 339,582
== 12,358,768 12,279,890 78,878
ANEHNZHE LD 708,095 663,095 45,000
403 AR HMSA=01H 705,795 660,795 45,000
01 XN AE2ER 705,795 660,795 45,000
OAEJN &3 180,000 135,000 45,000
20lat 25t 908,375 864,875 43,500
308 XXM SOIA 206,500 163,000 43,500
01 XN ELS 206,500 163,000 43,500
ORlisttEs HHMA & Qldet &5 206,500 163,000 43,500
NS0 SUis X2 (AZRHSEUSH)(22) 676,943 709,699 A32,7%6
Il 545,922 545,922 0
= 131,021 163,777 A3, 756
403 X HMSA=01H 676,943 709,699 N32,75%6
J| 545,922 545,922 0
= 131,021 163,777 N32,75%6
01 AXISHHA=2EE 676,943 709,699 A32,75%6
OAEZJAN Szt 676,943 709,699 A32,75%6
| 545,922 545,922 0
S 131,021 163,777 A32,75%6
HA0Z0F ICTESE XY (ADEY AEES)(Z2D) 68,387 37,308 31,079
Il 30,087 30,087 0
& 38,300 7,221 31,079
403 THAIEMS =01 68,387 37,308 31,079
| 30,087 30,087 0
== 38,300 7,221 31,079
01 XXt AH22 £ 68,387 37,308 31,079
OALNIEE N&EES 31,079 0 31,079
sYEZ0F didXIoI2EEsHNIUXIEZAEXR)(=2) 421,082 441,457 A~20,375
= 0 339,582 A339,582
Il 339,582 0 339,582
== 81,500 101,875 ~20,375
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403 X SHHMSAH=01H 421,082 441,457 A20,375
= 0 339,582 N339,582
2l 339,582 0 339,582
< 81,500 101,875 A20,375
01 MIXISHX=2EX 421,082 441,457 A20,375
OUUHXIEZAIERIE 421,082 441,457 A20,375
= 0 339,582 A339,582
2l 339,582 0 339,582
< 81,500 101,875 A20,375
MNessHATRS(MIM2AIE) (1) 62,152 49,722 12,430
) 41,435 41,435 0
= 20,717 8,287 12,430
403 MXISHHS 201N 62,152 49,722 12,430
2l 41,435 41,435 0
=S 20,717 8,287 12,430
01 XIXIEHXt=EE 62,152 49,722 12,430
(OTAINPSEEINES 62,152 49,722 12,430
Jl 41,435 41,435 0
< 20,717 8,287 12,430
SAHERSEEE & stts /KREFRME 12,412,690 11,924,585 488,105
= 4,576,000 4,784,000 £208,000
Jl 1,269,000 1,269,000 0
< 6,567,690 5,871,585 696, 105
NSetel FEZd 2= AA(21) 75,000 0 75,000
= 75,000 0 75,000
308 XXM SOIA 75,000 0 75,000
= 75,000 0 75,000
01 XSS LExS 75,000 0 75,000
OXgte == 25 X3 75,000 0 75,000
= 75,000 0 75,000
FS2 Ctst 1,182,300 1,022,300 160,000
308 ARISHMSOIH 707,300 547,300 160,000
01 MAESHBEx= 490,800 330,800 160,000
O=42 Z0{e il X2 354,000 294,000 60,000
OZJ0e w2 X 100,000 0 100,000
sHSUSUSHEH 29 655,615 138,360 517,255
308 XXM SOIA 567,655 125,400 442,255
N S| 2SHUSE S AS AN 567,655 125,400 442,255
OXBHE 24 567,655 125,400 442,255
405 KHoHFSH| 75,000 0 75,000
01 AR =SF SHI 75,000 0 75,000
OXSHE 24 75,000 0 75,000
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2T24 JEMMYH 2E XR(21) 15,000 35,000 220,000
=2 15,000 35,000 A20,000
308 XIXISHHISOIE 15,000 35,000 A20,000
= 15,000 35,000 220,000
01 RXSHBAEES 15,000 35,000 A20,000
OZZ3A JIEMAMHUAH 7= K& 15,000 35,000 A20,000
= 15,000 35,000 20,000
AXISEI|BEA 1,059,550 967,300 R,250
308 XIXISHHISOIE 50,000 0 50,000
01 RXSHHBAEES 50,000 0 50,000
OS2 | Z&W X 50,000 0 50,000
403 IR SHHISXH01 ™ 1,007,000 9%4,750 42,250
01 AIXISH R 22 % 1,007,000 94,750 42,250
OsSH2 |8 T3 X2 0 50,000 50,000
OAPC AlEES 162,000 126,000 36,000
OMIIM2AIE X2 525,000 468,750 56,250
ZOHE X (=2) 822,000 1,158,400 1336,400
= 331,000 594,000 263,000
(= 491,000 564,400 AT73,400
403 IR SHHISXH201™ 422,000 758,400 336,400
= 211,000 474,000 263,000
[ 211,000 284,400 AT3,400
01 XX SHHIAtE 2 X 422,000 758,400 336,400
OXE X2 422,000 758,400 336,400
= 211,000 474,000 263,000
[= 211,000 284,400 AT3,400
SABMASY 1,699,495 1,110,145 589,350
=2 885,400 311,050 574,350
(= 814,095 799,095 15,000
DEZX MY AW H 52,000 37,000 15,000
308 XXM SOIA 52,000 37,000 15,000
01 AIXSHHBNEZZ 52,000 37,000 15,000
OFEF T 1 X XA 24,000 9,000 15,000
GAP RIMAIM 22H(=1) 17,350 52,000 N34,650
= 17,350 52,000 A34,650
403 XSS K=01™ 17,350 52,000 A34,650
= 17,350 52,000 A34,650
01 XIXISHHIXH=2 B X 17,350 52,000 A34,650
OGP IMAIL B 17,350 52,000 A34,650
=2 17,350 52,000 A34,650
SREE USAEMY XA (=) 40,000 0 40,000
= 40,000 0 40,000
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308 XXM SOIH 40,000 0 40,000
= 40,000 0 40,000
01 AXEH B EES 40,000 0 40,000
OZzZE8 LaA34Y X 40,000 0 40,000
= 40,000 0 40,000
SAZHIRH AEAE(=1) 569,000 0 569,000
= 569,000 0 569,000
308 AXIMSOIA 569,000 0 569,000
= 569,000 0 569,000
01 AXEN B2 LS 569,000 0 569,000
OsASHISHM AlEA 569,000 0 569,000
= 569,000 0 569,000
Stigs Restts 52 35,673,907 36, 124,107 450,200
= 50,000 394,000 A344,000
< 35,623,907 35,730,107 106,200
JI=NAH AMdens X (=1) 10,000 0 10,000
= 10,000 0 10,000
308 XXM SOIA 10,000 0 10,000
= 10,000 0 10,000
01 HXSHH B E2ES 10,000 0 10,000
OIIE=XIAM AME NS 10,000 0 10,000
= 10,000 0 10,000
ZSSSUA WA X AEAIE(21) 0 460,200 460,200
= 0 354,000 A354,000
< 0 106,200 106,200
308 AHXIEMSOIH 0 460,200 2460,200
= 0 354,000 354,000
(= 0 106,200 2 106,200
01 XN BSEES 0 460,200 460,200
OxXSSSUA HU2HA X3 AIEAY 0 460,200 460,200
= 0 354,000 /354,000
< 0 106,200 106,200
sttE =EJ|E =5 552,510 444,510 108,000
*=ENEES 362,250 254,250 108,000
403 TR M SAH=01H 360,000 252,000 108,000
01 AR A =2 £ 360,000 252,000 108,000
O===dZ T ICT At |4 360,000 252,000 108,000
Hees(sitesssl) 15,332 0 15,332
SBEXE 15,332 0 15,332
S8  SEFES EE 15,332 0 15,332
802 gtet=JIEt 15,332 0 15,332
01 2DEXIPEZ 15,332 0 15,332
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